
Девиз урока:               
«Знаешь- говори,                

не знаешь-слушай!»
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 3+7=10 
        10 -1 = 9   

8 – 3 = 5

9 – 3 =6 3+5 = 8
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6 +3 =9 

1 слагаемое 

2 слагаемое 

сумма



2+5= 7 
3+4=7
5+3=8
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8 – 3 = 5

?
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уменьшаемое 5 8 7 3 9 10 4 6 10
вычитаемое 3 2 4 2 5 5 1 3 8
разность



Уменьшаемое 9,вычитаемое 4,запиши 
разность этих чисел и вычисли
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3-2= 1                                               
6-3 =3



8 – 3 = 5
уменьшаемое

вычитаемое

разность



Сегодня на уроке я узнал…
Я могу похвалить 
себя за то,что…




